
Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P4000  |  Pendant & Surface 
Semi-Recessed
I N S T A L L A T I O N  I N S T R U C T I O N S 

VARIABLE Top Over Head Support Bracket 1

872070 P4000-SMR Over Head Joiner Bracket 1

VARIABLE Bottom Over Head Bracket 1

91562 P4000-SMR Mounting Bracket Extension 4

79741 P4000-SMR 4˝ Angled Leg 4

100150 P4000-SMR Adjustable Clamp 4

100149 P4000-SMR T-Bar Outer Clamp 4

100-00230-14 1/4-20 x 31/2˝ RD. HD. MS. Screw (Non-tilt) 4

100-00283-14 1/4-20 x 5˝ RD. HD. MS. Screw (Tilt) 4

P4040

P4020

P4030

275/8˝ 
Diameter

915/16˝

72˝ 
T-Bar  

Centers

48˝ 
T-Bar Centers

90
O

H A R D  C E I L I N G  F R A M E 

P4018

193/4˝ 
Diameter

111/2˝ 
Fixture  

Mounting 
holes

24˝ 
T-Bar Centers

90
O

Fixture Mounting Holes

493/16 ˝ 
Diameter

321/2˝
Fixture Mounting Holes

915/16˝
Fixture Mounting Holes

385/8˝ 
Diameter

48˝ 
T-Bar Centers

90
O

90
O

PA R T S  L I S T

X 1  ( T - B A R )

100-00037-14 #6 x 3/8˝  Hex HD. Self Drill Tek. Screw 4

VARIABLE P4000-SMR Trim Ring Assembly 1

100-00034-14 1/4-20 x 21/2˝ RD. HD. MS. Screw 4

100-00141-14 #8  x 1/4˝ HWH SLT-SMS Type B Screw 10

100-00255-14 1/4-20 Keps Hex Nut 28

100-00114-14 1/4-20 x 3/4˝ Truss HD. Machine Screw 28

104102 P400-SMR Grid Connector 4

100-00012-14 1/4-20 Speed Nut 4

VARIABLE P4000-SMR Top Cover Plate 4

Lens Removal Tool

04-29-2019

71 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P4000  |  Pendant & Surface 
Semi-Recessed
I N S T A L L A T I O N  I N S T R U C T I O N S 

1.	 �Assemble top overhead bracket with bottom overhead bracket.  
Be sure parts are secured at 900 right angle for proper alignment with trim ring and holes.

2.	 �Connect 4˝ angled legs to each end of mounting bracket assembly.  
Be sure trim ring mounting holes are unobstructed.

1/4-20 x 3/4˝ Truss HD. 
Machine Screw

Overhead Joiner 
Bracket

Top Overhead  
Support Bracket

1/4-20 Keps Hex. Nut

(4x) Mounting Bracket 
Extension

Bottom Overhead  
Support Bracket

Top Overhead Support Bracket

Part No. Model Length

87209 P4018 215/8˝
87659 P4020 28˝
87663 P4030 39˝
87683 P4040 491/2˝

Bottom Overhead Support Bracket

Part No. Model Length

87208 P4018 215/8˝
87658 P4020 28˝
87662 P4030 39˝
87682 P4040 491/2˝

FIGURE 1

EXTENSION 

DIMENSION

(4x) 4˝ Angled Leg

CO N N E C T I N G  E X T E N S I O N 
B R AC K E T  & 4˝  A N G L E D  L E G

3.	 �To complete pre-assembly of 
overhead support brackets, 
see detail dimension 
required for each diameters 
configuration with t-bar 
ceiling sizes shown on page 1.

NOTE : �� �Part number 91562 
— Mounting bracket 
extension not require  
on P4018 on 2’ x 2’ grid 
installation.

EXTENSION
Model Dim. A.
P4018 —
P4020 95/16˝
P4030 41/2˝
P4040 113/16˝

O V E R H E A D  S U P P O R T  B R AC K E T S

X 1  ( T - B A R )

Hold 900

4˝ Angled 
Leg

4˝ 

11/4˝ 

1/8˝ 

4˝ 
Dim A.

BRACKETS

Model T-Bar Centers
P4018 2’, 4’
P4020 4’
P4030 4’
P4040 6’

Model T-Bar Centers
P4018 2’

04-29-2019

72 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P4000  |  Pendant & Surface 
Semi-Recessed
I N S T A L L A T I O N  I N S T R U C T I O N S 

O V E R H E A D  M O U N T I N G  B R AC K E T  A S S E M B LY

1.	 Fasten overhead mounting bracket to t-bar with adjustable and t-bar outer clamp.

2.	 Secure clamps to t-bar with #6 x 3/8˝ self drilling screw (see figure 2).

NOTE : �� �See dimension B for clearance required from bottom of ceiling surface to bottom of SMR overhead mounting bracket assembly. 

1/4-20 x 3/4˝ 
Truss HD. 
Machine 

Screw

T-Bar Outer 
Clamp

1/4-20 Keps Hex Nut

#6 x 3/8˝ Hex HD. Self Drill Tek

Adjustable 
Clamp

FIGURE 2

Dim B.

X 1  ( T - B A R )

EXTENSION
SMR-4 SMR-7

35/8˝ 57/8˝

TRIM RING ASSEMBLY CLEARANCE

T-Bar

T-Bar #6 x 3/8˝ Hex HD.  
Self Drill Tek Screw

Overhead Mouting 
Bracket AssemblyAdjustable Clamp

T-bar Outer  
Clamp

04-29-2019

73 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P4000  |  Pendant & Surface 
Semi-Recessed
I N S T A L L A T I O N  I N S T R U C T I O N S 

I N S TA L L  F I X T U R E  M O U N T I N G  S C R E W S

I N S TA L L  C E I L I N G  T I L E

X 1  ( T - B A R )

1.	 Locate matching hole pattern on support bracket assembly.

2.	 �Attach 1/4-20 x 31/2˝ RD. HD. MS. Screw (non-tilt) or 1/4-20 x 5˝ RD. HD. MS. Screw (tilt) and 1/4-20 keps hex  to brackets.  
BE SURE SCREWS ARE CENTERED ON BRACKET!

3.	 Secure overhead bracket assembly to structure with support wire. 

NOTE : �� �See page 1 for specific mounting hole dimensions.

1/4-20 Keps Hex Nut

Support Wire 
(BY OTHERS) 

1/4-20 x 31/2˝ RD. HD. MS. Screw (Non-tilt)  
or 1/4-20 x 5˝ RD. HD. MS. Screw (Tilt)

04-29-2019

74 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P4000  |  Pendant & Surface 
Semi-Recessed
I N S T A L L A T I O N  I N S T R U C T I O N S 

T R I M  R I N G  A S S E M B LY

1.	 �Align 5/16˝ diameter hole on trim ring assembly, with matching holes on mounting bracket assembly. 
(See page 6 for mounting dimensions).

2.	 �Fasten in place with 1/4-20 x 21/2˝ screws and 1/4-20 speed nut.

3.	 Check top of P4000 body assembly for power feed K.O. location.

4.	 Cut away pre-punched top cover area aligned with body assembly K.O. for flex conduit attachment to body assembly.

5.	 Install top cover plates with #8 x 1/4˝ SM. type B screws.

NOTE : �� 
—   �P4020, P4030 and P4040 require two piece cover installation.
—   �P4018 requires single cover install.

1/4-20 Speed Nut

Pre-punched 
K.O. Alignment 

Location

5/16˝ Diameter Hole

Trim Ring 
Assembly

Flexible Conduit 
(BY OTHERS) 

1/4-20 x 21/2˝ RD. 
HD. MS. Screw

#8 x 1/4˝ HWH 
SLT-SMS Type B. 

Screw

Top Cover Plate

X 1  ( T - B A R )

04-29-2019

75 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P4000  |  Pendant & Surface 
Semi-Recessed
I N S T A L L A T I O N  I N S T R U C T I O N S 

T R I M  R I N G  A S S E M B LY  TO  M O U N T I N G  B R AC K E T

X 1  ( T - B A R )

P4040

P4020

P4030

T R I M  R I N G  M O U N T I N G

P4018

171/2˝  
Mounting 

Holes

1711/16˝  
Mounting 

Holes

For cross grid terminating at trim  
ring assembly, use grid connector 

NOTE : �� �Grid connector is shipped flat and can  
be easily hand formed to required angle

Grid  
Connector

243/8˝  
Mounting Holes

143/4˝  
Mounting Holes

457/8˝  
Mounting Holes

457/8˝  
Mounting 

Holes

22˝  
Mounting Holes

22˝  
Mounting Holes

04-29-2019

76 of



Prudential Ltg. reserves the right to change design specifications or materials without notice. Please visit prulite.com for most current data.   
© 2015 All rights reserved – All products manufactured at:  Prudential Ltg.  1774 E. 21st Street, Los Angeles, CA  90058

PRULITE.COM    213.746.0360

WARNING: Ground fixture in accordance with local and national electrical codes. Failure to do so may result in serious personal injury.

LED P4000  |  Pendant & Surface 
Semi-Recessed
I N S T A L L A T I O N  I N S T R U C T I O N S 

Flexible Conduit 
(BY OTHERS) 

M O U N T I N G  B R AC K E T  A S S E M B LY

X 1  ( T - B A R )

1/4-20 x 31/2˝ RD. HD. MS. Screw (Non-tilt)  
or 1/4-20 x 5˝ RD. HD. MS. Screw (Tilt)

04-29-2019

77 of


